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e 265, 79% 242,701 23,008 HISXHIARY] 75,600 111,600 £36,000
ES) 0 0 0 BTAA 0 0 0
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210 Z2HEML =Y 9,045 7,464 1,581
216 OlAt==¢ 9,045 7,464 1,581
21603 JIEtO|At==& 9,045 7,464 1,581
O30l Xkt 9,045,000& = 9,045
700 EM-USELHE AN 1,206,309 1,044,651 161,658
710 23S 940,515 801,950 138,565
714 OIXIZ=2l= 940,515 801,950 138,565
71401 OXIZ=l= 940,515 801,950 138,565
020214 213 GIxl= 940,515,000& = 940,515
720 LI HeH 265,7%4 242,701 23,093
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OMLeHd DS xt2k UXH| 300,000 20K = 600
ORZLHY U2 22 7Y 20,000,000 = 20,000
401 AlSHIZ SO 50,000 50,000 0
01 Al&H] 50,000 50,000 50,000 0
OZZ20F LY 2= L 2227 A 000,000 - 50,000
THRES (T Al 1,139,754 940,515 199,239
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